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1.
1.
Consider a put contract on a T-bond with an exercise price of 124 5/32.  The contract represents $100,000 of bond principal, and had a premium of $2500. The actual T-bond price falls to 120 19/32 at the expiration, is the contract in the money, out of the money, or at the money?  What is the gain/loss on the position?

2.
Consider a put contract on a T-bond with an exercise price of 102 11/32.  The contract represents $100,000 of bond principal and has a premium of $2500. The actual T-bond price is currently 99 4/32.  How can you arbitrage this situation?

3.
Explain how a swap could be used to reduce interest-rate risk for a bank with more rate-sensitive assets than rate-sensitive liabilities.

4.
A swap agreement calls for Durbin Industries to pay interest annually based on a rate of 1.5% over the one-year T-bill rate, currently 6%. In return, Durbin receives interest at a rate of 6% on a fixed-rate basis. The notional principal for the swap is $50,000. What is Durbin’s net interest for the year from the agreement?

5.
A banker commits to a two-year $5,000,000 commercial loan and expects to fulfill the agreement in 30 days. The interest rate will be determined at that time. Currently, rates are 7.5% for such loans. To hedge against rates falling, the banker buys a 30-days interest rate floor with floor rate of 7.5% on a notional amount of $10,000,000. After 30 days, actual rates fall to 7.2%. What is the expected interest income from the loan each year? How much did the option pay?
